PI.	ANT	ENTER	PRISES	PRODUCT	ION

Crop	Number of Producers	Acres	Yield per Acre	Total Production	Units of	Gross Farm Value
	Flouuceis	Acres	Acie	Flouuction	Measure	v alue
COTTON						
Lint - Irrigated		19,776.2	1,290.00	25,511,272		\$13,265,861
Lint - Non-irrigated		13,184.1	1,161.00	15,306,763		\$7,959,517
Seed - Irrigated		19,776.2	2,064.00	40,818,035		\$2,244,992
Seed - Non-irrigated		13,184.1	1,858.00	24,496,094	lbs.	\$1,347,285
Cotton (Total)	150	32,960.3				\$24,817,655
FORESTRY						
Pulpwood						
Hardwood				23,892	cords	
Pulpwood (Total)				23,892		
Saw Timber						
Hardwood				1,658,426	board feet	
Saw Timber (Total)				1,658,426		
Total Pulpwood, Chip & Sav	ν,					\$2,319,907
Saw Timber FOB Mill						
Total Forestry Stumpage						\$995,934
Forestry (Total)						\$2,319,907
FRUITS						
Peaches	*	5.0	90.00	450	bu.	\$13,500
Fruits (Total)		5.0				\$13,500
FEED GRAINS						
Corn	175	40,198.3	165.00	6,632,719	bu.	\$15,188,927
Grain Sorghum	20	4,916.6	110.00	540,826	cwt.	\$2,163,304
Oats	*	100.9	95.00	9,585	bu.	\$22,716
Feed Grains (Total)		45,215.8				\$17,374,947
HAY FOR SALE		, -				
Grass	33	250.0	1.70	425	tons	\$21,250
Hay for Sale (Total)		250.0				\$21,250

### PLANT ENTERPRISES PRODUCTION

Crop	Number of Producers	Acres	Yield per Acre	Total Production	Units of Measure	Gross Farm Value
HOME GARDENS	560					\$168,000
PECANS						
Improved	60	450.0	270.00	121,500	lbs.	\$139,725
Native	20	90.0	100.00	9,000	lbs.	\$5,400
Pecans (Total)		540.0				\$145,125
RICE	35	15,909.0	72.00	1,145,448	cwt.	\$6,357,236
SOYBEANS	175	73,683.9	45.00	3,315,775	bu.	\$22,049,904
WHEAT	20	2,972.0	56.60	168,215	bu.	\$541,652
TOTAL ALL PLANT EN	TERPRISES					\$73,809,177

## FISHERIES & WILDLIFE ENTERPRISES PRODUCTION

	Number of	Units of		Total	Units of	Gross Farm
Fisheries	Producers	Production		Production	Measure	Value
AQUACULTURE						
Catfish (Farm)	*	180	Acres in Prod.	986,108	lbs.	\$562,082
Aquaculture (Total)						\$562,082
FRESHWATER FISHERIES						
Catfish (Wild)	*			200,000	lbs.	\$93,400
Buffalo	*			89,926	lbs.	\$13,849
Gar	*			2,946	lbs	\$2,716
Freshwater Fisheries (Total)						\$109,965
ALLIGATORS (WILD)				15	ft.	\$330
HUNTING LEASES	50	100,000	No. Acres		acre	\$550,000
			Leased			,
TOTAL ALL FISHERIES & WILDLIFE ENTERPRISES						\$1,222,376

## ANIMAL ENTERPRISES PRODUCTION

	Number of	Units of	Total	Units of	Gross Farm
Animal	Producers	Production	Production	Measure	Value
CATTLE & CALVES					
Steer Calves					
300-400 lbs.			30	head	\$10,901
400-500 lbs.			25	head	\$10,450
Steer Calves (Total)					\$21,351
Heifer Calves					
300-400 lbs.				head	\$14,405
400-500 lbs.			50	head	\$18,848
Heifer Calves (Total)					\$33,253
Yearling Cattle					
600-700 lbs.			25	head	\$13,000
Yearling Cattle (Total)					\$13,000
Cow-Calf Pairs				pair	\$72,000
Cull Cows				head	\$16,511
Cull Bulls			75	head	\$54,788
Cattle & Calves (Total)	*	300 No. Cows			\$210,903
HORSES					
Brood Mares					
Race Horses	*	15 No. Brood Mares	8	head	\$48,000
Brood Mares (Total)					\$48,000
Stud Fees					
Race Horses	*	2 No. Stallions		mares bred	\$12,500
Recreation Horses		8 No. Stallions	25	mares bred	\$2,500
Stud Fees (Total)					\$15,000
Race Horses	*			head	\$200,000
Show Horses	*			head	\$20,000
Recreation Horses	*		25	head	\$25,000
Horses (Total)					\$308,000
GOATS					
Slaughter Goats				head	\$1,700
Stocker Goats			10	head	\$650

### ANIMAL ENTERPRISES PRODUCTION

Animal	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value
GOATS					
Cull Goats			10	head	\$420
Goats (Total)	*	30 No. Does			\$2,770
TOTAL ALL ANIMA	AL ENTERPRISES				\$521,673
EAST CARROLL	PARISH TOTAL				\$75,553,227